i pumber. such that none of its digits is 0. If you remove second .
: o f s ||'ILII|'|t"‘l ts a perfect square. IF you remove first digh, resulimnt e ,:I.I
resultant I|1|'|.'|.‘-|.1."" ¢ in the 1'!|-'||I1"N.I is repented more than twice. What is the remainde: ...Ilf
s Jpdroine. | i ided by 5 h
ml e 'ﬂl‘m’ ey wsre &, 5 gow w0 siw 0 w8 k) afy em g o e o
piod « “” o @ dwn O uof =7 Ei ki afy amg oea ofm W gzrd ¥ @ ufreed .mt?.: Heily W
o afveh & .em"r ¢ wour A wrd W afw d wr A afus dwT ol e b wee .., i
Rt © iy AT koAt wa W AEd B oy
g o faafet = ¢
o "I () 2
!
Below arc given 4 <et of analogies. Which of these analogies are NOT appropriate?
(a) Oean: pacific :; River: Nile _
(hy Zoology: Animals = Cm-dmh-_.g}» Brain
{¢) France: Europe i China : Australia

(A) Only () (B) Both (a) and (c) ;ﬁf Bath (b) and (c)} (I3) Only (c)
ﬁmmmwﬁﬁmﬂmtlﬁﬂ%aﬁﬁ—ﬁwmﬂrtr

(a) WO - WeTid A o A

(b grftr TSI 99 ﬁlﬁm ‘lﬁﬂiﬁ

(€) (b)) 3T () Tty 47 (¢)

(¢) Sky: b= Cansl : Mounigain
M ﬂnly tb} (B) Both (a) and (b) (C) Both (b) and (c) (D) Only (c)

z e %1 = & @ sgeand sogE B2

W wEB) B @G (© (b) 3T (c) A (D) e (c)

4 I
4  "What would be the next two terms in the given alphabetic series: bbCCC, cccEE, ecHHH. hhh!

— -—-—u?"
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ok & ﬂlh"lm arE K000 B wites sy g
'rlntm 18 % el fowd el & 5 A wew

fi 5--:-,- ﬂﬂﬂ%ﬁzﬁﬁmtmm|

3

sast 3. years as a Trainer.
i f- Y J{b}bﬂ.hﬂt done a :Iip!uuu course in pﬁs-.mﬂf raining

%dﬁﬂT {:II} but has done a degree course in nutrition and

: al training and he has 2 years' experience as o uvm trainer
ier institute.
below is correct for the selection of Mikal?”"
| (B) He will not be selected

iste: D) He will ask his manages
i ﬂ'héﬁl ¥ form 1o e Fort 237 B v g T T
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y ] L
(o) :l':ll:' have wan hpﬂ o ml Noamd v A We splak |'.||'|||HIH1.1||H

::I: Ir & onnididare fubiits all the L R R R (R R I L T
safes aml marketin Ui Dvis Do s s il B waind doe D0IE el L
ted 1F & cavdilane TRl Eha i oo (0D D o sy s beniom of 4 YRIPD (8 PN Wk
tve sabo thei DM viase will B sant Gy thn 10 Y P L LT

Sunit bas appliad for the post of Regional “l'h.“ AT I Y organdeation, He s s QT T N T
with 6% marks, Mo his w oaal ol b vonrs oF wink i UNPRTnEe i o nnlon mmnngen 18 sl
MBA with 78% o the soum pilwte |

tA) He will e selevivd i‘ T 1 T b o Ll
(C)  Hiz case will be sgnt w e IR Vg Ii; WS g will b et i e I VP
el it dwam A @ faal uuw @ sy wiﬂ L L T T T i e
(a) w9 H W T0% il & we enas d i
(b} wroe % el W w0 vl i wve i
(¢) HoE WA o @ W own 2 el g o o oy
(d) =it wd awdaarr (o) & Mot wl Y o eween B, o 1 aho B O s i o aflicra
wH 9N e oot awm e et e w ﬂa‘qt-'w.lz '
(e) aiy =i guiarc (h) ® Tl'!'!ﬂ- U RSV I Y ,.-m LR RTTT R e e e g aihin,
WSS B Ay weEe i oy il a) oy -n_nuil'l-l-
gt A wreA o e fh wuﬁ iy B ot faan 1.-m-:-q:::mrh LI UL TR DT
e #E e & e 0 pe 3 e e el anp o 7R ey Moo e e e b

|

(A) S"® 99q | Um?il N ' (I0) iy s ot [ ey
(C) o STHen TRy &% W) W s (L) et s e ol o) S e
9 Fndkmmg is the selection ofife Iy student 1o get adimbsaion in “Contel-binis liy of Indla® fir
(a) Must have egwglered Higi ¥ohoo! WINGR loast 9.0 ¢ A,
ép} Must havegbeen a least [7 guthk old aw of (% Jan 2021,
o Must Hfte sirgmolSl (48t |l thel itm'w% y A
Ifs i Copt () b scored more thien TS CAPAI | Ligh sohion) 1t
their o the 'Sr, Admission (FMBEHIS R et

| (e) If students fulfil all the criterin except (L) but hive more than 90% on the university snirance 1o
- then their case will be sent to the Heud of th rtment,
Elﬂhu bh | ﬁ o X i .1‘ '| . _'."- &




Pmli-}em figures and foyr Mtlaties

inue the same series B gt F figireg "

1-“ H\ f' LurE l-.
Pro h’,e_ f Fim
Burgy

B
qﬁ' ?F'i ﬂ:_l-_i -ﬁ-:l"
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M () D) (@

rhe following question, Contain four pro es and four answer ﬁm:naﬁd (a), (b). (¢), and

.....

iﬁlich will continue %MIES as given in the

XODIE. L8 :
: ﬁ"umfmangm sl gt e st €, fE (a), (b (©) ¢ Ed (d) Tafea famn ™
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nue the same series as Bivey " 4
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{2 The following question, contain four |:ﬂ'|ﬁ!'!mr i which will confi

(d). Select a figure from amongst the answ

problem figures. ¥, Forrr (a), (b). (€) STt m}f‘f‘hﬁh&m%
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wd X Z. the relation .,
n{ Tk

\r—-ﬂ. .
: . _
oo ol l:&.qﬁﬂ*

16 X is 4% more than Y and Y is b% less than Z. WX o ot X > Zs
aand b ois y > 0, L2
X, Y & a% ofm & ot Y, Z ¥ bY% ww & aft X > O
iy ¥ 7 uum*nl
(A)  100a < b(100-a) () oo 3 h’ﬂulhﬂi
(€)1 1008 > 100+4) (Dy 1008 =55
ife Mrs. Bhasha. He also wpepg,
s W fFronm the remaming AlMinygy
Rs. 12,000, Hy,

or hi
My, Harshal spends 40% of his savings on thgmudiﬂlﬂ “'T:' 1: ..:du'ﬁ“m
account is

17

20%% each of the remaining amount on his mmWﬂﬁ the ving
half of it was spent for a family trip and the amount lltlﬂim“g f his S8
much money did Mr. Harshal had ininally? g id g Tfan @1 20% ST g I
o, w&nm“ﬂm4mﬁmﬁwﬁmw*mwﬁ:ﬁiﬂﬁmﬁ fom @d e ot gy
aRdl & ydw @ P W wd e E lﬂiTﬁTﬂmwﬂﬂﬁ”ﬁ 3

Rs. 12,000 vfyt 35% o @ & ¥ 14 B9 & e e A PR (D) Rs, 2.00,000

(C) Rs. Lfﬂaﬁ

W Rs. 50,000 (B) Rs. 1.00,000
| ew inereased by 10% and thay
: The ratio between the prices f ﬁﬂm is 15:2 ,m? ﬁrst is 1 1
" of second by Rs. 550 P:ht ra:mig?”"" n the prmﬂsﬁ:% 1 iﬂt v 2t were the initial prices of the tw
bicycles? (o
L-}'t I i i Rs. 550 ﬂ Qﬁ\‘i ﬁ

ﬂrmﬁa‘ﬁt

I~
Mmdﬁgmwmm - 285. 1 2/3™ of money with Ram mﬂ@--hﬂf&ﬂoﬁmﬁmy with Sham.
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o of the cOMPany, and o, i

| . X m a o ; iﬂ th.E SHIe

Six friends P. Q. R. S. T, and U are sitting at different P“"L% but 1 . Q sits immediately (i
them get a different salary viz - 500, 800, 1000, 1500, ‘”_m .ne"end of the |N:l ft of S. P sits at the lefy
The friend who gets a salary of 2000 does not sit at the ﬂ':klﬂ‘-'mﬂn d to iﬂ ]arf:' neither of 2000 nor of ls}ilj

R and gets a salary of 800. T sits between U and $. O iﬁj_ R gets @ 3552

4

of the row and gets a salary of 1000, T gets a of 150(
(A) 1800 (B) 2000 (€ 30 Bt il & TEE B g
B B P QR S, Tl U s #) ws dfts & s @il 1 qﬁﬂﬁqﬂm;mmﬁﬂmm

a7 foman & 9 - 500, 800, 1000, | 2000, A= 7€ et #1 T U e S 5 4
Fﬁwuﬂﬁtmaﬁ?ﬂaﬁhtiiﬂ‘:&;ﬂgﬁt a‘ﬂﬁmﬁﬂﬂmmﬁw%l'fﬂ:ﬁ
tmg.Q.skmﬁmmthmi{ﬂﬁﬁmmtmmﬁ e fiwen 37 |
iﬁﬁﬂmhﬂ'ﬁ’tﬂfﬁ!ﬂﬂﬂﬂﬂ?ﬁﬁﬁi&rﬁﬂﬁ_@ﬂﬂ-w' U= 500 =1 2000
1300 “®) 2000 C(©) 500 g
ding, but not necessarily in the

Five person P. Q, R. S, and T lives of ‘separa Joor of 8 5-floor buil T .
same order. The ground floor is numa;m:d 1. thfﬁﬂ:ﬁg:ﬁm“mmmd 2t o0 HHIET] ::L a:jpmm
ﬂmrL 15 numbered 5. Each of ﬂmm-.‘!im::lﬁs‘a favorite subjeet from — Hindi, Science, Vet Afl, and
En _Ellsh. but not necessarily in R eter. The e GO the second ﬂm!' likes Ma‘ithh. R l!km
Science and he lives on the thi oot fhe s gl Hmmﬁ-;'hWﬂmﬂ floor likes Eng]u!ln. P lives
on the fifth floor. S lives on the floor immediately above T. The one who likes Art does not ii¥o o
odd-numbered floor. Whe lives on the second floor? . .
Bt Q. R S S T s 5o s 5 sirn o e 90 v ¥, e oredt w1 B Al A A
TAvE G B w13, we e 2 %, iy g8 A g SUT & G 1 He 5 BT 6 e
o et f) B LA A1 A s o 5wy

T B
@ yEdE fawa ¥ - R, fage, g s oh osd, R A
WA 9T e %, wAfora o YR @ 3 ofT 7w d@n ‘FrEg =i A 599 AR
iﬁwﬁth ' Nellt Wi TRAT & | 9% =i
{A) S

e i) d*l’!IL
‘Given statement is followed by two assumptions numbered (1) and (11). You h; - i
to be TRUE, even if it seem to variance with commonly : __ ﬁ;ﬂ;ﬁ ::f;f:.:

mm el SR ITETRE,
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- tive of what nr.:-rm al I=: lh
= ‘w € g“'l.!ﬂ &t "'E“H {im
ct SIS By Eramsy

| s are ts p{ﬁ-‘ﬂhlluy

S = which are river.
Stlmlﬂ' e o oceans 8¢
‘s are ponds

1

L L —
T w1 wh1 & @ e b, gw = S
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29  The following question, contain four problem figures nnd_ fﬂ_ I ontinué the
(). Select o figure from amongst the answer (igures which wil
problem: fgures.

(b}, . 21
hﬂﬂmnnﬂﬁmﬂmwmmmmﬁ{ﬂt,w:&ﬁm ampival 3 & o 3,

Problem Figures (¥Em ST

< | A j

Answer Figures (=

()

(A (a) a

30 The following question, contain four problem figures a

: (d). Select a ﬁguﬂ::':ﬁﬁm amm!g_lﬁt'ﬂmmwer ﬁ_gj.l_'ms:-wh:qh..wﬂl

arked (a), (b), (c). and
same series as given in the




A IW Ftlllﬂ“’lﬂl is the criteriy of &

Mﬁ
Wu w‘t"r: than R’. mﬂﬂﬂ 1¢'|-|1,I|"1'l o 1,
® i ve RAM equal 10 OF maore than 10 Gy o vy
{b’ M“ﬂ M Iﬂm] . of Vﬂ“‘““ i3 or aboye Uy Iy, fint)
() Must! Il the above eriteri;
; tjﬁﬁ';ng a P exee
() :::;“I?;% r;: Rﬂ-. 45.000. Neepy (2) they i il
Il!f}‘lﬂﬂ all the ahove eriterin except Need §yis dad
() If Wity laptop 13 than 8GH, NEWCOM (h) they PNy
ﬂhﬂ_w of more IS & ney l'hh.|l1 b“ g, od i
has 908 RAN 3. Which of the f& e gy ™ e
of version 1 ich o nltﬂm YO8 Rs, .h.,'; oy
!Ihﬁﬂiﬂt‘;w NE I8 the OPtion bl | 00 and
'.ht I_ : o o ¥ Civreg e
‘A} He \ﬁ'ﬂ] tﬂui}' th#l-lFm‘P- 4 L, {B'J Hﬂ will not Iy | for the I:|p|..,|1
He w@d"s:pmﬂﬁﬂ . (DY He nec 1Y the | aptop
- s i3 Eai g 5o eds mom's perm
HATL ‘Fm gl l T e, ARy, & TR w5 -"m“" W buy it
(&) &, 40,000 & %% BT e freiitias ¢
. (b)) RAM 10 GB & TR § it wifewy
4 (¢) g i3 T Y A 5 A ) N MG F Ay
() Mﬂmmwm ? q;n aﬂm% (a) B
BIEET
lﬁ'__uﬁwﬂ‘ﬂ' Hﬂﬂﬂ_ :hwmhmﬂﬂ‘ﬁﬂﬁ WA
I[‘}I ﬁ ‘.h} { DTyt .':.". 143 i _.. rere BT : .I ﬁr‘ ‘{{T w7
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S SRS £ e r— (1) and (I1). You have to consider the statement
¥ TS et e e S R
ssumptions logically follow/s from the given statement. e
ﬂ'e?ﬁmt:m“ : . Ityia necessary ary to gm: ';:i:f.'mnt types of crops in each alternate season 10 replenish
the nutrients in the soil. s e Gt
umptions : (I)  No crop can be grown for the second ti e s e
Assump Ell} e diﬁ:rem cm:::gmwn in the next season, the soil does not require additional
nutrients like fertilizers.
(A)  Only Assumption (1) is implicit,
(B)  Only Assumption (I1) is implicit.
(C) Neither Assumption (1) nor Assumption (11) is implicit.
(D) Either Assumption (I) or Assumption (II) is implicit. _
Fog 9 e ¥ W & oA (1) ofve (1) Py g B) S wert 3w S B, W@ A Fw @ T q
& e et g o1 qw wY fs & v arcomelt F @ @ @, Atée w9 @ R T Bee & a o b
R B A A A @ o % e e dsias dem § Rifr g A sEd S srEeEs ¥
a2 (1) o f Ee § ged a B wEw Wﬂmrrfwﬁﬁﬁl _
() afk sme st F quly gEw ond o §, o Pl B ot A siffie dive awl @
v € edt &1
(A)  &=w grem (1) Pl %1
(B) %=® arom (1) fafea &) |
(€)= & sroom (1) she = & srom (i) e #1 ‘
greem (1) & areem (1) 2 1

Statement : b

Assumptions : ([)_

= (A) Only As
(B) Only Assu
(C) Neither Assum nior Assumption (1)

(D) Both Assumption (1) and Assumption (I1) are implicit,
- Fom o e 3 ane @ s (1) e (1) R 1 stewt me ) wh
8 P i A A w e A et % @ @, e

M-

Lo
i

LD R
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38 Four friends Sachin, Rachit, Raj, and Pintu live on separate floars of a 4-floor building, but not necessarily
in the same order. The ground floor is numbered 1, the first floor is numbered 2. and o on antil the topmost
floor is numbered 4. Sachin does not live on an even-numbered floor Only three friends live below the
floor on which Pintu lives, Rachit lives immediately above Sachin Which floor does Raj live on?

(A) 19 (B) and (C) 3o () 4t
are 2w, e, o oh fifg o A-gei AT WA & SRt ate weied qr e K, i ok T8 B ge
ﬂﬁﬂlmmzﬁmIt.mdwﬁwﬁﬁmﬁf.@ﬁﬁrmum&m%ﬂrﬂﬂﬁmdtlm

s 9 wEE A s el e b fig T el 9 TR R Sud S dae A fow ed ¥) ofa @i 5
s oeen ¥) oo fee weit g e B 7 .

(A) wER ,ﬂ‘f’{ﬂ’f (‘33 i%ﬂ" (D) e

36 Calculate the missing term :
300, 296, 287, 271, _2_, 210
ST 246 (B) 250 (C) 244 (D) None of these
g9 T # v #ing
300, 296, 287, 271, _ 7, 210!

(A) 246 (B) 250 (C) 244 (D) T30 4 wid 791

37

VI ; S 1 pen ei
VHI. Which pen does Vaishali like?

¥ shre v o VI

B) R



39 Which of the following is NOT a feature of communication?

85,
(A) Communication is a two-way process. (B) Communication is an ongoing proce

(C) Dm;ﬂunwaimn is a stagnant process. (D) Communication is a dynam;:plmm
faer @ 0 @1 Ja w afteee wd k7

(A) waeor faardt ufwar & (B) e anprEEE S & 00

oy s fer vz ¥ (D) At e wiear ¥ .:.-__.

40 Fill in the blanks with correct Preposition from the choice: e
(1) Harsha was standing Swapna. T
(ii) Madhu plays Tennis Chess.

(iii) Share the cake the two of you.
(iv) He divided the property his four sons.
(a) besides (b) between.
(c) among {d) beside \ o . .
(A)  (iy(a). (iip-(b), (iii)(c), (iv)-(d) ,mf (i)-(d), (ii)(a), (iii)-(b), (iv)-(c)
(C)  (i)le), (ii)-(b), (ii)(d), (iv)-(a) "(“D) (i)-(b), (ii)-(a), (iii)-(d), (1v)-(c)
41 Which of the following refers to the ;tud;& of eye contact? oC
(A) Proxemics {E} Oculesics oo
(C) Haptics (D) Kinesics
et § A T dda o wieez % anegma @ % 7 N
(A) wTeias (B)  darerget: O
(C) Eufeas - (D) @ [~
42 Match the following parts of w P
List I ) |
(a) Absence
(b) Busy

(d) Grea

Choose the :_-':'3‘ ' ions given bels - .

(A) (a)-(Hi) - 5 (B)  (a)(i), (b)-(iv), (e)-(iii), (d)(ii)

(C) fa}-{u.i. rb,l-{wJ, chU dem} -(iii ), (e)-€1). (d)-Cii)

Fill in the blan ith rrect v - with the s in the foll ﬁs&nﬁeﬂag&i
(i) _-E_m forn e

lh HH:T‘E.'_I' W
BE W TP =y

P = I

W *Mﬁ“ b

(ii)

mplium ms dﬁm&mn mug agrem ﬁf
W -~ 'm oy s .ZEI. = e
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«Ellipses are two dimensional figure. It has two focii and a major axis and a minor axis. A circle is I35

an ellipse with equal major and minor axes.” ) S
In the text given above, M is the number of times, a letter ,hﬁ%gc_ urred consecutively (like p in dipper)-
and N is number of words with four or more letters that have been repeated in the text. What is the

roduct of M and N? o o o
EEllipses are two dimensional figure. It has two focii and a major axis and a minor axis. A circle is always

an ellipse wgg;cgmp:'n;gr and gincsr aétcs.*_' e 5 53
gyt fag g ' b G!“-Jﬂi WATT &9 ¥ Shewd W &) wen 3 (3 dipper ¥ p
S N @rt o sad wtud aerd a9 e w den B, A R ¥ dermy qar 2 M aﬁtma:[mzlp%%?
(A) 6 (B) 9 (C) 12 D) 16

A total of 83 persons are standing in a queue. Between Mal]esh and Suresh, there are 34 persons standing.
Which of these could be position of Mahesh so that it is possible 1o uniquely determine position of

Suresh?
A : 12" from the front
B : 41% from behind -
C : 59" from behind" o
(A) Only A (B) BothBand C (C) BothAandC (D) Only B

UE W 9 gl 83 wafed @R ¥ mRer ol gin & 9 34 = ¥l 3 & -t gk o fafy @ gad

& oy giwn #) faf @) fafire = & Frerffig oo gwe A2 o

A oa w124t U]
B : 4 & 414 <

C: 9% & 594 AR ! .
(A) %3 A (B) Bt Cadf  (C) AsfwCddl (D) %aa B

"A cube of side length 6 cm is painted red on all its sides. This cube is cut into smaller cubes of side

length 2 ¢m. On each of the smaller cubes, the unpainted sides are painted green. Each of the smaller
cubes is now further cut into cubes of side length 1 ¢cm. How many small cubes of side length 1 em will

(A) 48 -l en RN ki.:@ |
Below is given a pair of questions, which are required tu%Mw@,m f state ments. Which

group of statements is sufficient to answer both the questions?
uestion 2 : o

+ #ﬁg*ﬂmm 1:P

R -y e R e
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-

There are 8 patients in a hospital. The average weight of the 7 lightest patients is 45 kgs. and the average
weight of the 7 heaviest patients is 52 kgs. The difference between the weight of the heaviest and the
lightest patient is

orTare A 8 UM ¥ | 7 Had weh A0 w1 shea ao 45 Peeim & ) ol 7 wEd wrd At o @
52 fapeiurs & | w49 9l ot 5ad vk i & gwa & 4 @ otaw feam &7

(A) 47 (B) 48 (W1 49 (D) 50

Total 25 students appear for an examination. Rahul and Mohan are among those 25 students. Rahul scores
98. The average score of the 24 students other than Mohan is 48. The average score of all the 25 students
is 2 more than the average score of 24 students other than Rahul, How much Mohan has scored?

ww when & g 25 T U 9 ¥ | 39 25wl § gw oi e W o ¥ 1 e @ @ 98 & | e
% ol o 24 WS @ ofed W 48 ¥ | el 25 B @ shEa W TR B BiEet 24 wiE & shad W
# 2 afum ¥ | Hiew | fpe e o & 2

(A) 72 (B) 86 (C) 98 (D) 82

The parents have m number of children, The average age of father, mother and m children is 20. The
father is 48 vyears old, and the average age of mother and m children is 16. The number m (numerical
value) is

AT & =@y & qea mod ) fyer, ﬂmrammmﬂn‘i‘fafm?rangzﬂ% | firen o airg 48 ad #, affT =wan
A m = s oy 16 ¢ | gem m (swms o) fhEd 2

(A) 3 (B) 6 (€) (D) 2

A is twice as old as B and C iig thrice a8jold as A If A's age is 2 years less than the average age of all
three A, B and, ! Age, ¢ . ' &

A% amg BAT | afE A @ ang A, B

2 94 %9 &, @

(A) 10 8

A mother has decided to sum and product the ages of her children Ishan and Anm The sum
oduct of their ages are 18 and 56. respectively. The solution of which qua
pm'bln ages of Ishan and Anushka £

rqq;a#it minﬂfm a?rc _
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Below is given a figure, in which a horse is placed an one of the boxes in a square grid of size 5 * 5.
The horse can move in either of the following Ways in a single move: ot

(i) two boxes to either left or right side and one box to either up or down side

(i) two boxes to either up or down side and one box to either left or right side

(iii) the horse cannot step on a grey box. The horse has to stay within the grid and any move to out

of the grid is NOT legal.
How many white boxes are there which cannot be covered by horse within 3 moves?

S v ety &) wd B, fred um A1 @ 5 < 5 oI & AT fire % feelt um w93 T T B e 0w
& e § Prafifas & & fedl o ab% @ 9w waa &
(i) @ @t ar & Al eir o el et i Um mE SUT A Y @ i
(if) @ @ ar A Gue A A @) el ofr s W A A sive an and s
(iii) Hre1 i(grey) @A ¥ & w8 7@ wwanl G 9% N B & e wen dm el fire & awy o &
& ot T w e R
% e wt wn kPR 3 e A Y g0 AT T e w7
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Six friends Rohit, Rachit, Rinku, Raj, Rajat, and Rishu are sitting in a row at different pﬂﬂtmﬂ& but not

necessarily in the same order. Rohit is sitting at the first position from left while Rajat is sitting at the

third position from right. Only two friends arc sitting between Raj and Rinku. Raj is an immediate

neighbor of Rohit. Rishu is not an immediate neighbor of Rajat, Who is sitting at the second position
from the lef1?

(A)  Rachit (B) Raj (C) Rishu (17)  Rinku

e fa ik, duw, T, o, e ol frgp v e o - o e g 43 2, fwa w5 78 %y
ﬁﬁlﬁﬁﬂm%mmmhtmmwﬁeﬂmmmﬁmhm oy frgp & dtw wea = s
a3 ¥ W, Ofta & Frevza g & ﬁﬂmmﬁmmﬂqu;ﬁwmaﬁﬁ&m%?

(A) A w © fry (D) fi

Six persons Raj Rohit, Rachit, Rajat, ngﬁm and Rinku are working in an office. Bach of them has a
favorite car viz. P, Q, R, S, T, and U, but not hBt‘:ehHarll}’ in the same order. Each of them got a different
salary — 1000, 2000, 2500, 3000, 3500, and 4000, but ok necessarily in the same order. Rajat gets a
salary of 2500 and his favorite car is U, The one who likes car Q gets a salary of 3000. Rachit likes car
P and gets a salary of 3500. The one who gets a salary of lﬂﬂﬂ does not like car R or 8. Rinku does
not like car Q or S but gets a salary of 2000. Rishu gets a salary of 4000 and does not like a car R. Rohit
does not get a salary of 1000. Who gets a salary of 30007

(A) Rohit (B) Raj (C) Rinku {DJ Rachit

% st P, Q, 3 ' | I ﬂﬂ 2000, 2500,

3000, 3500 sirt ' H TH it Fee wEdE
w7 U %1 Frd 3000, 857 e PR A ot %1 g
st frd 1000 A ; 5 Qar s yg 7 2000 =@+ frean

#1725 9 4000 e Fowen ¥ ot 3 R e v i B e 3 muuaanffmmt.mmamm
7

.lc-}-'

"mfrm P, QR S, nnd T live on a separate floor of a S'ﬂ%t'"'ﬁl-lﬂd ng, but
A imbered | '-the First ﬂaﬂr'



63

65

Rajat starts walking We{jﬁ:_rmijs college, then Rﬂﬂt took one left. turn, one right turn and then another

left turn to reach his home. In which direction is Rajat's home from his college?
(A) East M’ South-West (C) Norﬂpwm (D) ' West
o S ER @ ofEE H S T e ST E ﬁ“mmﬂ‘{mﬁﬁﬁqqﬁmw% i AT
ot ean & ofre T qEd AT AT gEAn ¥ T H1 AT IHE FAw A fow oo A 37
(A) 9 (B) afeqor-uiyas (C) Sei—vufyay (D) wfgam
Saurabh walked 10 m West. took a left turn and walked 20 m, He then took a right turn and walked
10 m. Then he took a left turn and walked 20 m. Then he took a right turn and walked 10 m. Finally
he took a right turn and walked 40 m. How far was he from the starting point?
(A) 30m (B 25m {C) Iﬂ m (D) 18m
drew 10 dr wives Fr ofit wwa &, 9 gEa @ i 20 M OAwaT ¥) f6 % 7 gew & @i 10 9 g e
g8 0@ W S Il g ¥ el 20 ﬂm%lﬁﬁi‘ﬂ?ﬁﬁi AT 10 # geran ¥ o F 98 o gean &
cd'nmﬁraﬁmt_laﬁmrrqugﬁﬁaﬁfﬂm?
’wf 30 (B) 25 (C) 204 D) |84 B
Je ™
Rajat walked 20 m towards East. took left turn and walked 2(}m 'I‘hen he took a nght turn and walked
20 m. Then he took a left turn and walked 20 m. He again ‘took a left turn and walked 40 m. Finally.
he turned to his left and walked 20 m. In which direction is Rajat facing finally?
(A) East (B) South-West (C) South (D) West
=@ 9d @1 &1 20 7 g ¥ 9 zuﬁaﬁm%lﬁﬂm:ﬂw%ﬂnzﬂﬁrmtlm
=% am 5o ¥ e 2048 i g # ofe 40 ) s b (S 8, g o o
qeal & 20 | A &1 S _
(A) T e (D)
%ﬂﬁ\" walked 6ﬂkm ‘West and then took a left turn and walkm‘l ﬂlkm He tcmk a left turn and walked
20km urn. :

in took a left

\!ra]kﬁd Eka He

o

20 M el haﬁa ﬂ" o aﬂ#r Al @i‘fr ﬂ?ﬂf 3 Eﬁ'ﬁ 20 11 S
‘& M'-‘i'f !fa‘: z?
- (B) 25 e
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s 'Eh‘fﬁﬁ't | 519
i

Tywo trains are moving in opposite direction. First train is 150m long and its speed is 40 km/hr and the
Ien_gth of second train is 170m. If they cross one another in 4 seconds. what is the speed of the second
train?

(A) 248 km/hr (B) 320 km/hr

(C) 100 km/hr (D) 160 km/hr

2y ¥ Pl fon & =w@ W ¥ 1 queh 39 150 &, o & ofre gwEr i Her ufa 40 fed @ st gad 3 9 v
170 9. ¥ | AR A wH TEL BN 4 Ve A qe wd ¥, A g 4 B o wwE 7

(A) e ufa 248 fdt (B) Her Wiy 320 fedt

(C) = wia 100 Redr (D) e wfa 160 e

A man covers distance of 1400km in 80 days resting 10 hours a day, If he rests 16 hours a day and walks.
at 2.5 times the previous speed, then in how many days will he cover 1000 km?

(A) 35 days (B) 20 days (C) 40 days (D) 50 days

wE T Wit 10 B2 R w5, 80 Rl # 1400 Rl g o Fear @Al 4w ufafes 16 52 awm
FHea & ofre Rwdh nfy & 2.5 0 ofy & g@ar &, @ 9@ ’IQﬂﬂMEﬁf?{ﬂﬁTcﬁﬁﬂﬁ G e

(A) 35f= (B) 20 f= (C) 40 f= (D) 50 f&=

A fraction becomes 3/5, if 3 is added to both numerator and denominator. And, it becomes 1/2.if 5 is
subtracted from both numerator and denominator. What is the fraction?

oy syt ST ¥T A & 3 Wi faar W A o P 3/5 € o & 1 ier offe BT AN A & 5 @ wv uE 12
At Tt
(A) 21737 :

9/11

‘There are three fractior & he largest fractior n, the result 3/5 is
greater than the middle fraction by 1/3. If the sum of the 3 fractions i '

3 will be the difference
between the largest and the middle fraction? |

(A) 14213

The product of two fractions 155f4 -and their quotient is 4/20, If the denominator of one fraction is
2/5 times that of the others fraction, then what is the sum of the two fractions? |

Sffe S ST 4120 ¥ 1 2w Pt gt foer B ww A 2/5 T B,



74  Mala is sister of Harish. Harish has two daughters: Reema and Seemy
is mother of Satish. Below are given few statements. Based on i
the statements isfare definitely true?

A : Reema is niece of Rekha.
B : Rekha is mother-in-law of Seema.
C : Mala is sister of Rekha.
(A) Only B is true (B) Only A and C are trye
(C) All three statements are true (D) None of the three statements are true
oA €91 @1 wwa ¥ who o o afe ¥ ﬁm#ﬂﬁmlfmﬁ?mﬁﬂﬁm#ghm &ms,é";m:.m
g9 #e fm o ¥ & o s & s 0 g B S-SR B e wg g omh b '
A : P Ten v §) 4 '
B : tmn, A o owre ¥ ¥
C : 9 Ten # g 31 7 -
(A) %aa B g ¥ (B) HaA o C wh b
(C) & su= wd1 ¥ /@Zﬁﬂ;"ﬁﬂiﬁmﬁﬂﬁwﬂt

F»an:a 15 married 1o Satish, Rekha
given information, select which of

75  Four security guards A,B,C.D are giving dulysat.fuur corners of a buidin '

\ 8,0, ! 5 0 g compound as shown in the
given figure. After sometime A and C swap their places. Then B and D move diagonally I[a tsp;:mit;
carners. And then B and D each move one side clockwise and anticlockwise respectively. [ and A then
move two sides each anti-clockwise and clockwise respectively, What is the current position of €7

A C
B D
(A) Diagonally opposite to D

A e ¥
aw A o C gt . Iaﬁ ammg
TS FHI: UF TG S W ¥IC

b *l.l.;ﬁ‘iaifﬁrﬁﬂﬂﬁ!ﬁl &7

A c

Which figure will replace the question mark (%) in the given figure
g § s U (7) % W 9 g o




77 Given statement is followed by two assumptions numbered (1) and (11). You have 1o consider the statrment
to be TRUE, even if it seem to be at variance with commonly known facts, Decide which of the gives
assumptions logically follow/s from the given statement.

Statement : The largest computer manufacturer has reduced the prices of most of the maodely of
the desktop by about 15 percent with immediate effect.
Assumptions : (1)  The company may incur huge losses due to the reduction in desktop priges
(I)  The sales of desktops manufactured by the company may increase significantly
in the near future,
(A)  Only Assumption (I} is implicit.
(B)  Only Assumption (II) is implicit.
(€) Neither Assumption (I) nor Assumption () is implicit.
(D)  Either Assumption (I) or Assumption (11) is implicit
R g waw % = 2 e (1) s (1) fog g ¥ et BaE 5 wh A ¥, wA A oA @A we sl
§ =t wdte A ) T X B & o aromelt 4 & 2 @, Wis = @ P o wua w5 am W 3
w0 wAH qF G Pt § dumery & s wiewl B g F A gEa @ w16 dfam R
a0 &t ¥ '
wmd o () e dhil § & Hueow wri gmar 8 amar X
(1) & gra Fife Teeis & et Froz wfam & 09 73 =54 1)
(A) Faw = (1) fafeg &
(B) aw ureon (11) ffem %
(C) = = srrom (1) fiT 7, & o (i) fif .
(D) arem (1) a 7 i

78  Given statement is fol owed by two assumptions numbered (I)and (I1). You hhﬁidﬂ the statement
1o bc TE:‘.UE even if it seem to he at variance with commonly known facts. Decide which of the given
Aassumptions logically follow/s from i emen .

e training. |
- Assumptions : : |
|
A 8
| (A) Only Assum implicit. |
~ (B) Only Assumption (II) is implicit.

Neither Assumption (I) nor Mwmptlun (I1) is implicit,
and Assumption (II) are implicit.
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I & codifig SCIEIe, CACI TEMEr 1 A WOra 15 WEIen as o 1e1er afiey yhifi T o7
alphabet, where N is the number of vowels present in the word, For “ipﬁ;l’;:triﬂ:; ahead in Englﬂl:'l
o it will be coded as CBU. A five letter word LOUIE is taken, e Oftly one. VOWe’,

It il cndﬁm 4 . ) )
resultant is again coded as per this scheme, and so on, this process js ording to this scheme, The

pe the final coded word obtained? w for 10 times. What will
wep i avorn A fod g um gres & wdd s B s sl ey st & g N e g i §

forn orren B, ared N, ores o sfyge ey o) den ) SEmOREET BAT & e 4% @t ¥, yahm w@ CBU & 1
& @i fwan smamn g aia s @ gres LOUTE fran o %1098 99 gorn % araTT ?ﬁ}ftﬁf&mw ¥ | froms
) f5t 8 ga Ao & s s s onar & olve o 98 79 wiwar 5 10 are S AT ¥ 1T T A
fism won il g @ v 7

(A) HOYPX (B)  PSAMI (C) SNIZK D)  OTZNJ

"In & coding scheme, a word is coded as product of positions of its letters in English alphabet. However,
for the purpose of caleulating product, only unique letters are considered, For example, in word FELL,
L. would be considered only once, and code would be 360, Which of these words would have largest
code?"

s FET AN A ub g @, auh ol B el aviarn ¥ ok e % qew & w ¥ wfe B

FiEits, ST B T § v @ bae sfkda ot o B Prar s &, samreEsy g FELL # L @1 e

o T A S e as 360 1 EE A Pre e ) o gl v e
(A) ACACIA (B) BASS (C) SHY (D) DADDY

In & family of six persons. two art remaining are females. The members are P, O, R, S, T and
U. There are two p& ) : siblings. P is
wifie of T. U is NOT™ {  piven a few statements. Ba n information.
select which of th

5

A : The two male members of family are ) and T.

(€ Only A. B and D are true S (D)) ONREA B R A e 8
B et % v wfvar A & g ¥ ohe g wfeend ¥ wew PQ,R, S, T AT U ¥ oftare F fran s g

B2 8, % ueh b1 R ot Q W K1 P, T o weht 11U, S @ g i b1 g e e e
Bk a5 rur v Am-wE wE PR e A W AR g A
A g [ ome e _




82 Below is given a venn diagram. Irrespective of what normal belief is, the depictions in the venn diagrams
are to be considered correct. Based on this diagram, select which of the given statements have a possibility
of being true. il i |

Statement A : Some stickers are sheets
Statement B : Some stickers are mats
Statement C : No sheets are mats
Statement D : Some carpets are stickers

Mats Carpets Shm Wallpapers

“ v ral ; V
Wallpapers

] 3

% éva
(A) Statements A, B and C only
(B} Statements A, B and D m’ﬂy :

(C) Statements A. C and:D only




83 A and B decide to travel from place X to place Y by bus, A has R,
is 80% of the bus fare for two persons. B finds Rs. 3 with bint et v
which one of the following statements is correct ? -
(A)  Now the money A has is just enough to buy two tickeys,

(B) A still needs Rs. 2 for buying the tickets.

(C)  After buying the two tickets A will be left with 50 paise,

(D) The money A now has is still not sufficient to buy two tickets,
Aai'rfB.mﬁxﬂmvm#wmﬁmmﬁmm-tm%m 10°%. % ol i s ame

¥ @ w3 W F 4w ar 80 EIBHAH 3T B b oht s g oy - 40
frer & & B w1 BuT @A 17 4 | ¥R B 2 ¥ gw el

(A) 9% A S TR @ §, 9w D R e & fir i

(B) Pz et & o A onft o 2%, @ srasamm §)

(C) @ ez @fies ¥ userg A & o 50 & w0

(D) A% 9 O Nt B, aw oot o o P whed & R e e 3

10 With him and he finds that it
ands it oyer © A. In this context

‘84 Three statements are given followed by four ennl:lumﬁnsl,li,f]!{-ind IV. Assuming the statements to be

true, even if they seem to be at variance with commonly known facts, decide which of the following
conclusions logically follow(s) from the statements.

Statements :  (A)

Conclusions :

.',.,_- = I

uares are red.

Some sq

s TR g, 0
e el a1 O W S T b




Directions for the following 4(four) questions no. 85 to 88 : " : s,
The following 4 questions mqhg-;,gd}:ﬂn the fnlt:wi':gs passage in English to test the comprehension of English
Language ?:_z]ﬂmfﬂm' mﬁ&ei;ilimhﬂﬂs do not have Hindi Version.

Fr=iafam 4(Am) wesiel (4. 85 7 88) ¥ fio fder |

Preafifias 4 gesior offish & Prewfafes aftee ar smnfis ¥ oive stish s & e & ol & fra ¥ | arq: 51 nosol @
&t s 8 e s wm By o

Scientific studies can remind us of our Kinship with animals, but on their own lyey'rca'nnol help us understand
the meaning and importance of that kinship, nor its moral and political implications. For this, we need to
examine our concepts and ideas about animals — a task that requires philosophy. .
As children grow up, they learn to think in terms of a variety of dichotomies, such as man ?md beast, nature-;
and reason. The job of the philosopher. Midgley argued, is twofold. A philosopher must examine the way these
dichotomies work on our imaginations, and affect our ways of acting and being: and must articulate, or bring
forth, new images that will free our imaginations from their hold. :

Humans do, of course, have exceptional ::a.pacilies_‘-ﬂlat make them different from, and also especially d‘anger?us-
to. other Kinds of animals. The idea that humans are different must be respected. We are not alone in eating
other species, or in hunting and hurting them ,fﬁs'.;p!iaf:-zﬁs' all cat lovers know. But language transforms these
naEumll activities and gives us the power to alter our environment in ways that go far beyond that of other
animals, : <

Elizabeth Anscombe, wrote about the ways in which the acquisition of language affects human life. She noted
that there are some things you can get a person (or indeed a dog) to do without language. But if you can get
them to make a promise or sign a contract — two activities reliant on human language — the possibilities for

involving them in your plans become vast, 1T i

Advanced technology, industry, culture and art depend on the sorts of cooperation that would be impossible

Wwithout human language. And each of these alters the way our natural animal instincts are realised in the world,
Money, banking. commerce and trade allow our animal desire for warmth and shelter to be realised through
hoarding resources, Territorial instincts, common to most animals, are reshaped through property rights. We
farm at an industrial scale and eat g imals not just because we are hungry, but be 2 10 do so culturally
signifies wealth or status. SR :

Though it is our lang i 3 gerous of all the animals, thought it was
nevertheless in Ian : logy — that our environ tion must lic, T
her book Sciene Deuy, she writes abo Ay in which metaphor and return us to our.
5 2 Ve -8 1 c O T JE==Eat =
85

|

. (A) Lineage ((B) Gregariousness  (C)  Coalition
Identify the verb from the given options based on the given sentenice.
b given se

it language transforms these natural activities and gives us the power to- gliter mus et ey
that go far beyond that of other animals, Blkes s the pos er 1o alter
: ities (B)  Transforms




irections for the following 4(f, ! *
?‘[w Fﬂ_l_lﬂ“'ll':f EE:{ our) questions no, 89 to 92 .

4 questions sed on the followin in
panguage and therefore these questions do not have rﬁmﬁim_&'m“h 10 test the comprehension of English
Wéh,.ﬁ‘r;}m::mﬁ % 893 92) % fom frin o
mﬁmmmmﬁtl | &w afteve gv snwfe 3 ST Sy vy 3

india is the second largest producer of fish in the

A tee world, emplovip i
[ncreasing Pressure on fish stooks, overs % on, ot million

_ . rowding of boats, uflutmn‘ radation TCOPIe in fishing and ay uaculture,
- Ciees ”‘_"3*"“]”_ the €eosystem and livelihoods Et';f millions, Ililearly 70 dq,l"mrj}?t(':?% of habitats and estructive fishing
I 4 ﬁshlﬁ:% \Iris.';leu;lzi‘i%ta‘pwa”}r discarded 10 make way for Cplﬂl_TlErCiaIIyrimmrm“l 13]:"'.[“' e awanted fish collected
our seas to : Fte epends on the survival of this Juvenile fish. Whep traditional diam gy OWever, the ability of
the gaps in 1 e I‘rr..‘tb COmpress, leaving little room for smaller fish to escape. However tff-l""“,'“d""hi‘F‘-‘-’d Nets are in water,
, shape in the w atay and Juvenile fish below a certain size can escape throgh the so | w"squure shaped mesh retains its
§ The square smjhllfct Was introduced in Sindhudurg region tﬁ?mtgh a parmg;ghin ch:ms-' - -
| Maharashira an t"u: United Nations Development Programme (UNDP) which gims E} d':: IE 16 Governmen of
P conservation of coastal areas and sustainable livelihoods can go hand iy hand. The monstrate that biodiversity

Global Environment Facility (GEF), 7SN : partnership is supported by the

The partnership brought in technical expertise from the Central Institute of Ficherie 1. orki
with focal fisherfolk to introduce the SqQuare mesh net in the cod e ¢ of Fisheries Fechnology, working closely

0 T , s HISTI OF traw
e;epncssmhguhls ;’mpngqnt fish landing centre, the initiative has gonan; |u§§a[3§f mnﬂﬁﬁ{ﬁghﬁ;gﬁl:mg!
:;:th:'::;ﬁzrg mlsﬁznn::il;t in their Journey (o sustainable mmrntﬁshing Since 201 35, every trawler in the district now
The new technology has increased incomie by INR 10.000 (US$152) each month because dj
declined. On an average catch of 18 Kgs, it is estimated that the Square mesh allows over 3 kgs of juvenile fish and
ather aquatic mammals 10 escape, important for the survival of the seas, At first. fishermen were worried that the
pew nets would exclude big fish and their <catch would decline but during the trials they saw how it worked. The
nets are gaining popularity and net makers in the region are now beﬁhgin-aﬂicd to stich square mesh nets for Lse
by fishing trawlers along the state. Witnessing the movement undi rway in Sindhudurg where over 300 trawlers have
ted more sustainable fishing ﬁractacﬁ,“M_&h_am_sﬁuﬁ‘s Fisheries Department has now issued an order proposing
the mandatory use of square mesh nets for all 17.000 trawlers in the region.
- Fishermen along India’s western coast are now using square mesh nets and practicing sustainable marine fishing.
| It is earning them higher incomes. protecting marine biodiversity and paving the way for licy change in one of
the country’s most important fishing eoastlines) i '

#  From the passageside
(a) Using ?“F" oY lishermen can curtail ove .
(b) The practi :e'of adopting square nets | o f ancially sustainable.
(c) Fishermen we g 3 siasti ‘;','-.s: Ing square nuts,
(d) Young fish‘cam - TAUTHETS USC square nets extensively.
(¢) In the near future, many states are likely to érislst that fishermen use s

uare nets.

A J-(1). (b)-(T), (¢)-(T). (d)-(F). (e)-(T a)(T), (b)«(T), {c}-{'Fc!l, (d)-(F), (e)(F)
}Cg Eﬂ-h’ith ' (d! e)(1 ). Ab)- Ij,-iﬂHE Ad)s(E). (e)-(T)
90 Which of the folle n be in: i : & ery n the district now
A) ishmg
}B) After 201
ic} Befors_e 20 \ L] Lare
(D) There was 2 i Ky o i th ot
e e B e o e G e i e i

over 3 kgs of juven
The ne

1

hipiscosnl. Misieppo o verage catch of 18 kgs. it is estimated that the square mesh allows
Guer 3 e o Javensle fsh and other aquatic mamals o Sscape, imporant fo the Suviva of the Sac

logy adop

s



Directions for the following 4(four) questions no. 93 1o 96 :

The following 4 questions are based on the following passage in English to test the comprehension of English
Language and therefore these questions do not have Hindi Version.

frrferfta 4 (am) wosinit (4. 93 & 96) ¥ o iy -

ﬁﬂﬁf@ﬂtﬁﬁﬂﬂﬂﬂhﬁiﬁﬂﬁﬂf&auﬁﬁzwmsmdﬁﬁwtﬂmﬁwﬁm%ﬁqi | 37 2 g9AT9 Bl
fe=dy ara =Y f ¥

The rich have many assets; the poor haye only one—their labour. Because good jobs are slow to come to the

poor, the poor must move to find productive employment. Migration is, therefore, the most effective way to
reduce poverty and share prosperity, the twin goals of the World Bank, Not surprisingly, all development
experiences and growth episodes in history have involved a reallocation of labour across space and sectors
within countries.
According to ‘Moving for PEM&EMW Labour Markets'. however, some of the biggest
gains come from the movement of people between countries. Migrants’ incomes increase three to six times
when they move from lower- to higher-income countries. These gains remain largely notional because most
people cannot move. Only about 3 percent of th&.-ﬁ'#oﬂ&-":ﬁ population live in a country in which they were not
borm, a proportion that has not changed much over six decades of otherwise unprecedented global integratmn,
via trade, investment, and knowledge flows. me in space, culture, and language are inherent impediments
to mobility. The most important barriers are, however, national borders.
The gains for immigrants do not come at the ‘expense of host countries because the hosts benefit from the
complementary skills that immigrants bring, or because hosts are consumers of the products and services
immigrants provide. Almost every empirical study finds that increased labour mobility leads to large gains for
the immigrants and positive overall gains for the destination country. That creates a puzzle. The compelling
economic evidence on the economic gains and social benefits of migration sits awkwardly with stark political
opposition to immigration. Respondents 1o political opinion polls rate the arrival of immigrants in their countries
as among their worst fears. Citizer ied about what migrants and refugees would do to jobs and wages,
welfare programs, crime, schools tional identity. Frustrated by the publie’s disregard of their

empirical findings,smany | opposition to cultural and soci ctors, including
xenophobia.

93 From the lines#
ﬂm" by B - _— —
(A} People are made to move to other countries against their wishes,
(B) Theoretically migration is likely to look like a boon to man
() People rer country ' jon o

can be inferred

not the--'w&y..
ces 10 accommodate immigrants.

Which of the following words from the last sentence in the pa;
/hich of the follc o s_.__ ainst people from other countries"

e regard  (©)




Directions for the fo) uestions no. 97 to 100 :
The following 4 qmﬁm:“.,ﬁfbgﬁ c-qn the following passage in En
Language and therefore these questions do not have Hindi Version,
tf:ﬁaifm{ﬁ.wﬂmﬁ]%ﬁﬁﬁih: o< s

ﬁ;ﬂmﬂﬁﬁm;ﬁ?mm“m W%mkﬁmﬁmt[m:ﬁ“ﬂsﬂm
Macbeth is done Upon a stronger and more systematic principle of conras shake v
plays. It moves upon the \f-::rgg of an abyss and is a constant strugg|e Imtwutr.il:nliiecninrilth;:aﬁf F{II]I-IE:&ETME'%
-ﬁegperatc. and the reaction is dreadful. It is a huddling together of fierce extremes, a war of of 1":; : ui:-n g
\\_'ht'-"h of them shal| destroy the other. There is nothing but what has a violent Eﬂd1ur violent hﬂp?r:%n . UI%H
_hghts and sh_ladcs are laid on with a determined hand; the transitions from triumph to de%pair fn:%m 1hegi1éig11€:
of terror to the repose of death, are sudden and startling; every passion brings in its fcﬂnw-éuntrary and the
-mnu_ghls P“Fh and jostle against each other as in the dark, The whole play is an unruly chaos of str.:m e and
forbidden things, where the ground rocks under our feet. Shakespeare's genius here took its full swing angd trod
upon the tant)ea_;! bounds of nature and passion. —William Hazlitt, Characters of Shakespeare's Plays Macbeth
completes William Shakespeare’s great tragic quartet whila_expar:ding. echoing, and altering key elements of
Hamlet, Othello, and King Lear into one of the most terrifying stage experiences. Like Hamlet. Macheth treats
the consequences of regicide, but from the perspective of the usurpers, not the dispossessed, Like Othello
-Li_lat!:reth centers its intrigue on the intimate relations of husband and wife. Like Lear, Macbeth explores female
villainy, creating in Lady Macbeth one of Shakespeare’s most complex, powerful, and frightening woman
characters. Different from Hamlet and Othello, in which the tragic action is reserved for their climaxes and an
emphasis on cause over effect, Macheth, like Lear, locates the tragic tipping point at the play’s outset to

Blish to test the comprehension of English

concentrate on inexorable consequences. Like Othello, Macbeth, Shakespeare’s shortest tragedy. achieves an

almost unbearable intensity by eliminating subplots, inessential characters, and tonal shifts to focus almost
exclusively on the crime’s devastating impact on husband and wife,
What is singular about Macbeth, compared to the other three greal Shakespearean tragedies, is its villain-hero,
If Hamlet mainly executes rather than murders, if Othello is “more sinned against than sinning.” and if Lear
is “a very foolish fond old man™ buffeted by s g evil, Macbeth knowingly chooses-evil and becomes
the bloodiest and mostadehumanize s tragic protagonists. Ma coldblooded,
premeditated murder fr ipating the psychological disseétion and guilt-ridden
expressionism that F uni

0 sage convey the meaning ‘the a

97  Which of the & g a king’?

(A) Regicide - (B) Usurper (C)  Protagonist (D

98  Match the characters in column 1 with their description in column 2
Column 1 :
(a) Hamlet
(b) Othello
~ (d) King : i ()i
(A) (a)iv _ (i) g it
(C). (i), (B} (01D, AEIAINY) - e . .~ .
99 Which of the following inferences can be made from the lines * What is singular about Macbeth, compared
S s e g 5"53‘ Wn-_uhqgediﬁ, ﬂ;;s,.-i:‘s ﬂ“ﬁ‘;ﬁ?ﬁﬁm@ﬁ by Shake
f‘} hndafﬁﬂmpﬂﬁmﬂ writien by Shakespeare, Macbeth is less of a

o . -




